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QUESTION ONE: #1I (Advertisement)

Read Text A on page 2 of the resource booklet.

(a) Explain what the advertisement is promoting.
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(b)

3

What types of tourists would these different options attract? Use evidence from the text to
support your answer.
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QUESTION TWO: 2%} L3} (Text conversation)

Read Text B on page 3 of the resource booklet.

(a) According to Soomi and James, what are the advantages and disadvantages of school rules?
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(b) Based on their opinions, who do you agree with more? Justify your answer using evidence from
the text.
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QUESTION THREE: Ot2H}O|E (Part-time job)

Read Text C on page 4 of the resource book.

(@)

(b)

Describe the three jobs that are available to James.
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Which job would be a good choice for James? Justify your answer using evidence from the text.
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Subject: Korean
Standard: 91141

Total score: 20

Excellence

Grade

Q score

Marker commentary

One E7

The candidate has demonstrated thorough understanding and
communicates some of the implied meanings by providing
supporting detail from the text to justify conclusions. The
candidate has discussed the two opinions and justified one
conclusion over another.

Two M6

The candidate demonstrates clear understanding and
communicates some of the meaning by selecting and using
relevant supporting detail from the text. However, the candidate
has not sufficiently discussed the two opinions and has not
provided reasons for choosing one conclusion over the other
conclusions provided, which is not sufficient to achieve a higher
grade.

Three E7

The candidate has a comprehensive understanding of the text and
has provided supporting details from the text to justify the
conclusions.






